
Answers

16 – 9 = 7

 

15 – 8 = 7

13 – 7 = 6

16 – 7 = 9

Correct calculation: 13 – 7 = 6

This is not the most useful model. A more useful way would be to partition 8 
as 7 and 1. This way, the first jump back would be to ten and one more jump  
back would make eight jumps, landing at nine.

A better partition model:

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

15 – 8
5 3

10 – 3 = 7

0 1 2 3 4 5 6 7 8 9 10 11 12 13

13 – 7
3 4

10 – 4 = 6

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

16 – 7
6 1

10 – 1 = 9

17 – 8
4 4

17 – 8
7 1
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Answers

The numbers she could have started on are 11, 12, 13 or 14.

Possible calculations:

11 – 5 = 6

12 – 6 = 6

13 – 7 = 6

14 – 8 = 6
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